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2X5,2X4+1X2,2X3+1X4,2X2+
1X6,2X14+1X8,1X106 fh, —3t4 4+
6=10(F) 2. fFTH 1 A.H 3+5=38
(FID &1 A, 4 3X5=15(F)
OTEH N, HA 6 1.0 NIEE L. A 3X
6X3=54 4~ ,—IAG 54+6=60(14).

BT (2)

2.(1) 7.2 (2)23.13

3.(1)0.9 (26.72 (3)99
1.10X2=204 2. 14 4X2+3X
I=11 4B 24 4X4+3X3+2X2+
1X1=30 4

10+5=15 Fh

INIESIE T

RAFERRE()

2.(1) 3.1084 (2) 0.14

3.(1) 0.8 (2)0.45 (3) 4.848
1.S=(a+hHh+=2=(2.8+4.6) X1. 6+
2=5.92 2.180°—a—5b=180"°—75"—
36°=69°,

a¥b=1 2X100+ 2. 5X28=120+
70=190

RFERTE(2)

2.(1) 0.25 (2)9.66

3.(1) 2.016 (2)43.2 (3) 7.7922

1. 72m + 88m = 160m, 4 m = 25 W,
160m=160X25=4000(F%) 2. 2.5x+
2.5y=2.5(x+y), Y4 x=12,y=16 i,
2.5(x+ty)=2.5X(12+16)=2.5X
28="70(Inf)
a—xy=5—0.25X1.2=5—0.3=4.7
ay—ax=5X1.2—5X0.25=6—1.25=
4.75



8

of.-ef .24 -B—% zmFsL

.

.

.

S

S

.

.

RAFERRE(3)

2.(1) 0.25 (2)15.6
3.(1) 13.55 (2)79.2 (3) 56
1. 82— 5x=3x, Y4 =12 B}, 3x=3 X 12
=36(H) 2.5—4x,4 x=0. 64 Bf,5—
4x=5—4X0.64=5—2.56=2. 44 (i)
(8—a+8)X8+2=4(16—a), Y a=4
B, 4(16—a) =4 X (16 —4) =48 CEJ5 &
b9

BrE3(1)

2.(1) 20.7 (2) 37
3.(1) 45.54 (2) 2 (3) 6.02
1. 4m—6.2% m=28 i} .4m—6=4 X 28—
6=106(A) 2.(a+b)X3.5+2, q=
2.8,6=3. 6 [, (a+b) X3.5+2=(2. 8+
3.6)X3.5+2=6.4X3.5+2=3,2X3. 5=
1L 6X7=11. 2CE} %)
2.38/A\0. 5=1(2.38+1)+0.5=3. 38 X
2=6.76 TAA=(T+1D=4=2,6/\2=
(6+1)=+2=3.5

BxE3](2)
2.(1)0.369 (2) 24
3.(D) 48.51 (2)79 (3) 2.75
1.S=ah=4.8X2.5=12CF F k)
2.6X12+12a=12a+ 72,24 a =15 B,
12a+72=12X15+72=180+72=252( )\)
(D) x2%5=3z+5 (2) 2%4=2X3+4
=10,6%10=6X3+10=28

Ju. RS

A5 (1)
2. (1) 0.306 (2) 5.15
3.(1) 84.84 (2) 11.99 (3) 44.1
1.8.7—mn, 4y m=5,n=1. 68 i},8. 7—

mn=38. 7—5X1. 68=8.7—8. 4=0. 3(IIfi)
2. 4a+8b,4 a=75,6=1.5 Hf,da+8b=
4 X 75+8X1.5=300+12=312(J0)

.

’

ARz B 49, 5= (10+1)=4. 5, F:R
Fi 4.5X10=45

HEgt5R(2)

L2.(D &0.12  (2) &0.21

3.(1))78 (2) 1.6 (3)5.643
LK 6. 84=1. 7CK), B 1. 7X
1.7=2. 89CFEIK) 2.189+5=37.8(F
%),216+6=236(T#),37.8—36=1.8
2K L e, A/ 1. 8 ok
ARRISE, 25 9 X 45=405(I0), [ 7. 5 X
75=562.5(J0), 5L (45+75) X7, 2=
864(70)

E & EE

L2.(1) 260 (2)12.8
3.(1)6.36 (2)39.15 (3) 11

L2, 42X2, 4-2=1. 44 CEFT 43 H)

2. 24X 20—120=360 - JEK)

L (1) 104+(8—3) X 2. 4=10+12=22(71)
(2) (26.8—10)+2.4+3=74+3=10(TF
PN

% it X i

L2.(1)0.72 (2) 0.168
3.(1)10.8 (2) 0.58
(D 32 BlLgk
30 (3) P EIG
JesR T AT HOEL 12 (5+1) X5=10
OB 3R BI04, 4. 86 X 10=48. 6
OB SR T EAT WL 15+ (5+1)=
2e00+++3,15—2=13 (W) , FF3K 204, 1
4,86X13=63. 18(30)

MR A

L2.(1)0.32 (2)0.8792

3.(1)0.88 (2) 1.5 (3)78.78
1.4a+b,2 a=280,6=200 B, da+b=
4X80+200=520(FK) 2.8.5X5. 4=
45. 9CFEFTH)  45.9-+0. 1=459(#H)

L 214+ 7+2—1=23. 5CEJF K

(3) 2.2
(2) 20 24 14
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